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o B AH =1fE F £ B fff & B A =1fE F £ B fff an B A T B
B% 67,080 95 51 RE—FR(XT—H) 27,100 70 30 TVITL 9,550 130 47
X3 10,900 80 46 RAE—F R (fE1R) 2,022 300 107 T7LITVR 1,597 1,000 519
HUpe) 1,100 80 53 TILI4=a—L 6,788 400 127 AIXATYDR 340 360 332
ATL—%(H) 16,570 120 65 MLOFERE 29,225 400 162 T RINGHR 705 250 64
RAIL—% (H) 6,650 90 30 T RE— 80 80 80 FLAvYY 5,680 60 19
AIL—% () 30,220 130 40 TR L 1,920 240 131 FTALER (4T H) 500 12 11
N (A) 6,900 40 24 H—=RS 19,040 150 4 JIZyYR 400 35 35
() 8,710 50 27 AETRE— 1,000 60 44 EVATS 1,405 70 35
N (FR) 7,430 45 29 TARD 3,180 120 51 LY —J7> 8,260 60 20
STDH—#(H) 17,460 90 50 dRER 1,770 95 64 T 770 55 33
STDH—# (F) 4,329 80 51 FT7a 840 75 63 A=TD431) 270 50 35
STDA—# (r) 29,815 90 12 vEHY 1,240 80 58 A% 1,530 80 17
STDA—F(EVY) 14,378 105 53 YUk 360 70 46 ARXF 100 30 30
STDA—* (FLY) 8,583 90 51 HRIANL—RTZT— 3,560 160 56 A& 400 30 24
STDA—FR(F)—V) 6,599 80 52 TINILTAT 2,120 100 63 JLAHR 5,580 130 31
STDA—x () 12,714 90 50 FAFIAN 3,650 180 93 ZavygAsy 2,125 60 24
STDH—= (afs) 8,298 90 52 TYLTIL 375 200 118 ThT 670 200 99
SPH—#(H) 3,060 85 57 ANEFH 5,140 120 51 LA vi=A 3,500 160 4
SPH—# (&) 1,818 80 57 tr=Fav 2,570 100 35 a—AY 10,253 1,200 103
SPA—2 (FF) 3,980 85 39 YYFT ) ERE— 7,000 90 51 F5+7+ duk 3,660 65 30
SPA—R(EVY) 12,735 85 45 =73 210 70 62 aLDYR 2,700 65 54
SPA—R(FL ) 2,540 85 70 <kYAVT 450 90 70 *4F3 470 200 112
SPA—R(J)—V) 1,670 80 53 TILIL L 2,020 150 114 A 450 300 73
SPA—* () 7,415 80 42 TIL—RE— 4,940 140 56 H< A= 179 420 276
SPA—x () 17,378 80 13 A0=h 550 85 73 NESUDT 2,051 1,900 552
STD/\S(H) 12,790 200 112 TyRD1Y 880 180 116 ¥ 2,180 160 57
STD/N\S (H#) 5,328 150 71 AU LRI 8,475 800 200 Fvi¥ 690 100 76
STD/\S () 15,618 180 79 Y (LA) 3,520 120 82 JAERF () 2,313 600 126
STDNS(EVY) 20,774 250 71 JICHIR 605 200 50 SATKKR 820 55 23
STD/\Z (%) 3,160 200 92 Hh5— 1,656 370 172 FRE 1,290 95 58
STD/NZ (FL oY) 7,170 150 79 TFILALOA)F 8,140 220 109 EXUAL 5,840 220 66
STDNS (BE) 6,524 200 87 27 9,167 550 193
NS (A5 v2n—X) 34 180 180 JayA—4 1,040 280 130
STD/NS (fafe) 6,343 250 60 Dk 2,670 380 116
SP/N\Z(H) 2,370 220 116 FT—=VHASL 190 95 73
SP/\S (&) 1,205 180 109 <!)—d—JLF 2,530 110 62
SP/YZ () 720 170 100 =7 2,120 100 63
SP/INS(EvY) 3,330 300 99 N—T%8 4,800 150 55
SPINZ (L) 1,140 170 102 FoLTIL 7,940 700 111
SP/\S () 1,900 240 107 AT 860 700 240
HARIVY 16,530 280 66 JVEDTIL 502 1,000 536
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